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BC- 08
I IGRGLCIC T

Cost Accounting

afer TYTAcHS T2T (Very Short Questions)

When the cost and works Accountant act came in to force and where is the head office of
ICWALI situated in India?

TS WIS T UHISUCSH SATAIH hel AN T AT WA H I[CWAIT 3T T ST fohel I 0
feorq 82

What do you mean by cost?

AT | STTYehT T ST B2

Difference between cost and costing?

AT T AT [T & ST 3T 22

What do you mean by cost centre?

AT e, § STTIHT T ST 82

What do you mean by direct material?

TeTeT TTHIT § ST ST ©2

Give four examples of direct exp.

TeTeT S o 9T 3STeNT i)

Give four examples of Items of expense which are not included in the cost of an article.

U HaT o = 3STeT 311G, Fofee e ol AT § WFATCTd a1 foha SITaT

What is the difference between production cost of goods sold and cost of production?

S T U ehi SCATE AN AT ScaTe IR H 3T 3T 82

Write two objects of material control.

Trft fRioreh 31 3eva fafay)

What is economic order quantity?

What do you mean by danger level?
Tehe T T 3T T |0 27

What is Bin card?

S R

Write any four name of methods of pricing of material issued based as actual cost.

QT e o Yot ol AR X AT foheel = fafer o A fafag)
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What is material turnover?
arft 3T ST 22
Give any two differences between FIFO and LIFO method.
FIFO T LIFO et # a1 31=w difer)
What is simple average price method?
| Sied g fofer @ 82
What do you mean by labour turnove?
ST ST o ST T THE 22
Who are known as causual workers?
TR A 21tk i B 27
What is difference between Idle time and overtime?
FRIET G TS 3T g0 | HAT 3T 22
what is Job card?
U U T B2
What do you mean by labour incentive plans?
¥ IRTTHeR ASTTSTT | 31T T AT 82
What is toylor differential piece rate system?
TR - HTRIGT Ut ohlT 82
What is piece rate system?
TS oIt SR &2
Mention formula to calculate bonus hours in rowan bonus scheme.
E S AT H 198 HE 14 L 1 9 o]
Give four examples of distribution overheads.
feraor Sufteaat o = 3arew dif)
Mention any two differences between fixed and variable overheads.
Teert o ufterdefier Sufteat & =0iE & a1t sraTea
Name any two service departments of a factory.
foRet SRR o 3T TaT [T o 19 SraTsd|
What is meant by semi-variable overheads.
TG, TEd-SiIeT SN & T 319 27
What do you mean by absorption or recovery of overheads?
JTERAT o STARTINUT 3T2FaT A | ST T ST 82
Give formula for absorption of overheads on the basis of percentage on prime cost method.

A AT 9T SfcrRret forfer o Srem o Sufteardt o Sty g iy

Name of different methods of absorption of works overheads? (Four)
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FRETT YN o ey shi fafirm fafermt o am sarga (3w)

Define over absorption and under absorptions of overheads.

SUNAT o ST T =IATSRIIRIOT 3hT GRATIN HifSTy)

Write name of any two industries in which unit costing methods is applied?
foR=el Q1 ST o T ToA et S $oRTS ATTa Mo forfer st SI=InT foRarT SiT &k 2
What do you mean by cost sheet?

AT U & STTIRT RIT ST 22

Explain the cost unit.

AT 3RS oh! THZTSY|

What is tender price?

foferar g 22

State mean difference between Jon and contract costing method.

3T Te ST AT frerior forfer o 7w St sy

How will you calculate the amount of profit to be transferred to P&C A/C it the work certified

is ¥4 or more but less than ' of the contract price?

afe SATTOTA il SohT 7o V4 AT ST B U] Y5 | H &1 1 T — BT @ | A= i ST aredt
TRT 39 foRE TR 1 hTT?

How accounting of loss is done for incomplete contract?

3Tl o R BT T cr@ieRT et foRarT ST 22

What do you mean by escalator clause?

Ffeg, FTRITRT ST T R & HTIHRT FIT SR 82

What do you mean by operating cost?

T T & ST AT T 82

What is operating costing method?

qiETe ST fetor fafer @ 82

What is meant by absolute ton-kms?

TTRTE: 2 TeratiHiet & T 3ATeRT 87

How do you calculate commercial tonne-KM?

arforseer o7 fohatiie fora Tohm JTd htd 82

What is represented by excess of actual wastage over normal wastage?
AT &7 T Sfaieh &7 ST ST T Jehe e 2l

What is abnormal effective? What journal entry is passed for accounting of it?
ST S T 2| $Eh Taieh O oI Siet TTaIfs 2l STt 2

Give any two differences between contract and process costing.

ST ANTA T Tishat ArTd fHeaior fafm 7 3 o=aw s
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What do you mean by inter process profit?

3T TTSRAT T | 3719 T AT ST 2

What are joint and separate costs?

TR TS I AT T ¢ |

Give two differences between joint product and by product.

HYH 3G TS IUTITE H AT H=R 31T

Name any two methods of accounting of by products.

AT TGk Shl g &1 ToTerlT ok =T ST

Name the methods on the basis of which the joint expenses are apportioned in joint products.
HE 31T § Hsiford Egerd NIl shT S [T ST 9T fohafm ST &l &, 3T 19 S|
What is other name of cost control accounting system?

AT T-=10T Aok TGl =T GO T &9 2

Name three main ledgers kept under non integrated system of accounting.

TRGTR 3T T THTRTAT Tgfd o ST T& ST ATt i S T Sfea o A1 sarsal
Give two characteristics of cost control accounting system.

AT (=0T TRET 951 31 af foRIvaTg, sdrsd|

When factory overheads is allocated to incomplete work, what journal entry is required?
STl SHIRTHT UG T STYUT Shral1 GLICIRuT ToRT STTT &t 3/l et sh st

State the meaning of reconciliation of cost profit with financial profit.

AT AT T Tored 1T AT & Tl & 319 Iars|

State two main couses of differences in profit as per cost records and financial accounts.
forecTar ol Tl STTd i@t g e Ri A § 3w o 2 THE HR0T S|

Name any two items which are included in cost accounts only.

U} IS a1 Hel o 3 ferfRay St shaet ATd @t 8 gftqerd shi STt 2

Name any two items related with appropriation of profits.

T RIS & Heiferd foreel 31 #at o I sl

State the meaning of marginal cost.

HHT=T AT o SR SaTsd|

Write marginal cost equation

HHAT= T iR forRad

What do you know about break even point?

THrE foreg & AT T Jwed 2

Calculate the amount of fixed cost from following information.

FUAREd FEral § feer AnTd 3 aieromT hife)

Name two main objects of standard costing?
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SHTY SR ST o a1 SHE 389 SIdTsd|

Enumerate different types of standards.

ST o frfeee JeRm sraTgdn

Give the formula for calculating material mix variance.
QT fHaror formrer i 1ot 3 9 S|

Explain the meaning of Idle time variance.

LI THATerRoT T ST THETE|

Give the formula for calculating labour yield variance.

£TH IeTe ferertor 1 o o1 g i)

Give the formula calculating material cost variance.

G IRTA for=roT ST s o1 91 Sy

Give the formula calculating labour rate revision variance.
#H ST EIEH foreror 1 s o1 &3 a1

Give main difference between standard cost and estimated cost.
SHTY AT & AT AT H S 3R S|

TITTcHeh T4 (Short Questions)

1

Explain the meaning of the following fratafaa 1 31t Tmema

(a) Cost Accountancy(<THTd <IETRITEN)

(b) Cost Accountancy(TTd TH@Th)
(c) Costing (Wﬁgﬁ{'ﬂ[)
(d) Cost (<TTd)

What is meant by cost Accounting? Explain the objects of cost accounting.

TANTA i@ ¥ 3719 T THEIA & ST Tr@ieh o 3eval o auid shifery)

List down any eight factors that you will consider for installing a costing system.
QAT TR gl TATIUd i o foTT €T | T ST aTet foheal 3118 Beehi 3 &=t Sy
Differentiate between financial accounting and cost accounting.

forediar Siat W AT wEl # ST Jdred|

What do you mean by cost? Explain clearly different elements of cost.

AT § AT ANIT ® AT o fofs=T dedi ol gHemsy)




Arrange the following component under the heads:
(1) Works over head (i1) Administrative overhead
(111) slaes and distribution overheads and

(iv) Expenses excluded from the cost

frfcTRad =t st T 3ot # affepd i

| FHREHT TN 2 TeMTE ek SN 3 Tosha 3 forawor Ui qem 4 U6 o5 S anTd o
Hftafera &1 |

Fuel and power, office salaries foreman’s wages, drawing office expenses depreciation
on plant, convertible material productive labour, Donation, Hospital and Dispensary
exp., Bank charges, Holiday and leave pay of workers, market research exp., dividend
paid, technical directors fee cost of Idle time, Carriage on raw material, cash discount

allowed, stores exp carriage outwards.

What are the main groups into which cost involved in a manufacturing business are

divided? Give three examples of each.

I I I G 11 & S uen il saraemr shi amrdt ot farifsateran S aekar 81 Icde &
NERIERE KU RIS

A factory produces a standard product the following information is given to you from
which you are required to prepare the statement of cost of product.

Teh gl Ueh SHTIOTT SR T 3ciTa hLd! & HTIeh! [+ FETS Ja oAl 775 & St 3fmaent
IATET “THE* ShT AN TIS0T I3 FF AT 2

Material Consumed (I |TIfT) ®

In manufacturing (ﬁ'lﬁUT Frt ff) 111000
In primary packing (EITQJ'&IEB afep ff) 12000
In selling the product (wmésﬁmﬁ) 5300
In factory ( FRE ﬁ) 2150
In office (FTITT H) 3250
Labour required (3TaTh AH)

In production process (ScdTad gfshan ﬁ) 12000

For supervision of factory management ( ﬁ»—e@“r eI SEET & YA & 1%1@) 3400



(a)

10

Expenses
Direct (JcF&7) 11000

Indirect expenses

Factory (3T9cI& shIXETT) 1200
Office (FHTE) 1250
Depreciation ; Factory(Hcgd : ShIETT) 2350
Depreciation : Building and equipment (HeIgT{ FTATAT e T IYSHT) 2150
Selling exp(farsha =) 4700
Freight on sales( farsha Tx are) 3000
Advertisement(ﬁﬁm) 1250
Buddebts : Normal g&Td =0T €THT) 1300

Assuming that all the units manufactured have been sold, also find out the selling price

which may yield a profit of 20% on the selling price.

78 HHd g foh wwea ffHa sreqd s &t 1% €, 31 fosker o oft S Shifer it for forsk
T WX 20 WRTd AT < Hehl

What is meant by material control? Why is it considered on important part in cost

accounting system.

[Tt FRIOT & SRAT ST 81 AT Aok h1Ie U Hedaqul ST i SHeT ST ol

Components A and B are used weekly as follows

A 3T B YR ot 9 Tedsh Teated - I 8 i § TS STt @ -

Normal usage (ATHTI HTAT) 50 per unit per week each

Minimum usage (=IIdH HTAT)- 25per unit per week each
Maximum usage (?Elﬁlﬁ'ﬂf - 75 per unit per week each
Re-ordr quantity (9 JATQITHTAT) : - 300 unit, B; 500 unit
Re-order period (3 QT 31T A : 4 to 6 week, B: 2 to 4 week
calculate for each comb orients :

Re-order level (b) minimum level



(b)
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maximum level (d) Average stock level

Tk JeRI ht AT o T Tl ot afteRat shifse
3) : STe T o) FAdH &

T) 3ferehay &R §) 3Ted Wi &

Write short notes f=1 W fewforr fefer

(a) Economic order quantity (\’ﬂT&fEF AT )
(b) Re-order level (I: AT TN

(¢) Minimum stock level (FITaH Tieh &)

(d) Maximum stock level (3Tfereha T &)

(e) Average stock level (3‘ﬁ'F|?T ek TM)

The following information regarding silicate is obtained from the stores records of a

factory:
fafcrene o wsier o FfcTRad =1 T e o SUeTer ol § 3uesd 3 113 2

2013 July
1 opening Balance 400 tonnes

2 Issued on requisition No 174 — 166 tonnes

3 Issued on requisition no — 189 - 166 tonnes

4 Received from supplier by challan no 175 of July, 2013 — 240 tonnes
5 Issued on requisition no 242 — 184 tonnes

12 issued on requisition no 263 — 60 tonnes

17 Received from supplie by challan no 197 of July, 2013 — 200 tonnes
24 issued on requisition no 327 — 138 tonnes

28 issued on requisition no 376 — 58 tonnes

30 Received from supplier by challan no 170 of July, 2013 — 250 tonnes
31 Issued on requisition no 382 — 170 tonnes

Received back by credit slip no -20 tonnes

Examination by the stock verifier on july 20, 2013 revealed a shortage of 10 tonnes.
The maximum amount of stock of silicate, permissible at any time is 400 tonnes and
the minimum 100 tonnes. The ordering level is 200 tonnes. Draw up the Bn Card no
122 for silicate with all necessary details showing the transaction during july — 2013.
STATS 29, 2013 1 T 3 SATe LA aTel = ST o 10 27 71t 1 2| Toefiepe o fe i
AR €T 400 T TAT =LATH 100 7 2| SR EHT 200 27 2| Foetiohe i S e
122 SHTST T S ST 2013 o Y@ hl ST forareolt o @rer sy




13

14

15

16

Explain by giving suitable examples about the following methods of pricing of the
issue of materials?

IRfaRt 3ATERT 34 g ETHt o e & g i e ffiae faftrit o o & g

(i) FIFO (Yo A7+ g farfa fafer)

(ii) LIFO (3Af~aw mma= yem fiee fafen)

A consignment consisted of two chemicals A and B. The invoice gives the following
data:

Te ST T &l TR o TR A 3R B ITed §U 21 sfiereh o 3 e e gu @

&,
Chemical A —400kg@Rs. 250 perkg 10000
Chemical B — 3200 kg @ Rs. 325 per kg 10400
Sales Tax 816
Railway fright — 384
Total 21600

A shortage of 200 kg in A and 128 kg in B was noticed due to breakae. What stock
rate would you adopt for pricing the issues assuming a pravision of 5% to wards
further depreciation.

200 foram it #ft A F qem 128 fopem &t B # 22 B & FRO MG 9 wrnft
TR 1 i | X W H o | A 3k stfafea ot Sie 5 wfawrd i & O a9
GHTIT Rl

How is the normal wastage and abnomal wastage of material accounted for? Give
examples.

Tl o TTHTT &7 AT STHTHTT &% T oi@ieh fohd JehIX foRaT ST 21 3aTeT ity

A firm maintain its stores ledger on CIFO method during march 2013, the following

receipts and issues of material made.

Teh B 3Tfeq e goH i, ggfa o oo dueTer wrdreR! widl 1 9 J1E 2013 §
Gt <Al it e e e o -

March 1 Opening Balance 400kgs@ Rs.10per kg

3 Received 500kg@Rs.6 per kg

6 Issued 600kg

10 Received 400kg @Rs 8 per kg

15 Wastage (as per stock vindication) 10 kg

20 Received 500 kg Rs. 10per kg

24 Issued 900kgs


mailto:500kg@Rs.6
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28Shorage, 30 kgs

30 Received 100kg@Rs.12 peg kg

Record the transactions in the stores ledger charging wastage at inflated price.

HURTER WIATSE H 3 SHeR ol ARG hifST| &7 a1 T b ThId Hea (38 gL A7)
RIS

Describe various methods of recording of time.

I oG ohi fafereT fafert st aui ifs)

Calculate the normal and overtime wages payable to a worksman from the following

information.

fetfetied STl § Tk 2ifteh hl YA Al S STell S o STRee i asigll s
AT SHIRAY

Days Mon Tues Wed Thurs Fri Sat
Hours 8 10 9 12 9 7
worked

Normal working hours are 8 hours per day and normal rate is Rs. 25 per hour.
Overtime rate are (a) upto 9 hours in a day at single rate and over 9 hours in a day at
double rate or (b) up to 48 hours in a week single rate and over 48 hours at double rate
whichever is more beneficial to the workman. T &3 8 T Ufafi:gT & qem ufasier
| 0 25% 2| SATrEee & (3) feelt Tt 9 =it eh sohgt ot & 1 9 widi ¥ 31fereh gt
Y AT () Toh TTE U 48 2T qoh 3ohedl o1 § T 48 B | S7fereh 9T gt ot & it off
s1ftreh o ToTT 31freh aTeRrdl 21

What do you understand by labour Idle time? Explain its causes, accounting mnethods

and methods of its control.

fftora Tmar @ 3119 T e 1 39k hIT, (T ¥R Ue T Shl fafer srarga

Calculate labour turnover rate and equivalent annual rates under different methods
from following data collected from the perssonel department of a factory for the month
of September 2013.

Ush Tt ok HHART faumT o Gefera faarex 2013 A1E & gt o i fafemt grr sm
TRTRit ST T T ATfNeh GThT TiEhe hiteTy|

No of workers on Ist September 950

No of workers on 30" September 1050


mailto:100kg@Rs.12

No of worker left the factory in September — 10

No of workers discharged in September — 30

No of worker recruited in September including 120 pn account of factory expansion
140

21 Explain the meaning, advantages and disadvantages of following methods of
remunerating labour
(i) Time rate and (2) Piece rate
syfent 1 TTCATteR o o1 Freforfaa fafemn =t o1ef, @ @ =il =l Tase SAIfST 1 (1)
T X (2) T T

22 Two fitters, one labourer and one boy, under take to work 400 articles on a piece work
basis for Rs. 4400. Time spent by each of them is 300 ordinary workijg hour and the
rates of pay are for the the two fitters Rs. 4 each per hour, for the labourer Rs. 2 per
hour and for the boy Rs. 1 per hour.

Ascertain the amount of piece work premium and show show the amount that each
person will receive when it is divided proportionately to the wages and show in each
case the percentage the premium bears to the wages payment at ordinary rates.

2 TR, 1 #ftreh 3T 1 Aok H4400 & H R S HITUR W 400 FET S HT TF HrH fora
| Tk gRT SR TR THF300 TR 5 @ 3T I hl < T {hed o T & v 4 ®
gfereier ifts o fote 2%, ufteier qem atesh & faw 1% ieer 21 #riet fiftem & afsr
TS Ffe FHHT Foreawor ehTg 175 HeTell o AT H Foharm STt 81 Wedeh fearfar o 7 oft sty
fop Sftrerm <7 BTeITCor 2T o Hsigdt T < wird 2

23 Explain the following by giving suitable examples.
fmfofaa s Sufad Sere afed aHEsy
(a) Halsey premium plan (28 S{Hm Jisrm)
(b) Rowan premium plan (Ua FifE=m )

24 Calculate the work cost of job under
(1) time rate system 9(i) Piece rate system

(ii1) Rowan system and (iv) Halsey system (50%) from the following information

TR FamTstl & Iushrl sht HR@HTARTT T Tiehe (1) T9 3 TS0d (2) U I8 (3)

F1 UGl (4) 38 TUTTA(50 Tferera)eh t=aid shifsi)



W A W N =

Standard time for the Job- 9 hours
Actual time for completion — 6 hours

Wages rates Rs. 3 per hour
Material cost of the Job Rs. 32

Works overheads recovered at 150% of wages.
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Explain and illustrate the classification of overheads according to function variability
controllability and normalacy.

JTEAT T IR0, FRITER TRARIAATEI, FRIFTTER T SHIRIAIER, 33T 6
HERIAT ¥ gHEsd|

A company has three production departments and two service departments. The

distribution summary of overheads is as follows.

Teh SHFOHT o T IcqTe forvRT e &1 ST forveT 21 SUTera o Toraeor ht |t e Wb ©

Production = Departments Service Deptt
A 9000 P70

B 6000 Q900

C 3000

The expenses of service departments are changed on percentage basis as under:
A B C P Q
P 20% 40% 30% - 10%
Q 40% 20% 20% 20% -
Apporation the expenses of service departments in the production departments by

simultaneous equation method.

QT forvmT o ST oh ScaTa Tor Tl | o EteRter forfer & stwTisia shifstg)

What do you understand about by absorption of overhead. Differentiate between
absorption and apportionment of overheads.

SUNEH 6 STYNNOT § T 1 YA & ITNAT o SR AT STFHTSH H Sl Tqrgdl
In a factory department a machine costs Rs. 11500. It is expected that it will work for
about 20000 hours and its scrabevalue is estimated at Rs. 1500. The rent of factory
department is 400 p.m. and 25% of the area of the department is utilised for

conducting the operation of the machine one forman & one attendant are employed on
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a salary of one more pm respectively, to work on one more machine of a similar type.
The expenses of the month incurred in the department are as under:

Light charges for the department rs. 80 having 16 points in all out of which only 4
points ae used at this machine total power used for two machines of equal horse-power
Rs. 320.Indirect labour for the machine Rs. 50 and repair and renewals Rs. 40.

You are required to find out the machine hour rate for one month (four weeks) when it
is expected to work for 40 hours a week.

T HRGMT 90T § T WA 11500% AT 31 81 F8 3T 3hT ST & T I8 20000 HE
W M AT SERT ST TR & 1500% 2 FR@HT fordwT 7 formn400 & wfomme 2
TR oot a7 25 ITIeTa &bt 36 HRA ohl T=ITer f5ha o SRIAT § 37T ]

Teh I qT Toh HETeh hHeT: 200 & F 100 & ATfee o T e 2 St o 3eft werm ot
Teh 3R A=A W oft o1 it 21 forvmr w1 o 3 anferes = ffefaa @ -

formT =1 SreRTRT =2 80% forH et 16 Uise & 3R FoiH | sharet 4 digee 39w |
AT 2| T STE dTa 3 a1 T 0 = ol TR et 1feh shi TIRT 320% T T AT
IH S0 TUT HUHT I A IR0 40%]

AT Uk UTE (IR TATE) hl A ST T J1d ShifSTd STalfch SHUTSE Tl H 40 T i 6t
T R

Explain the treatment of the following items of overhead in cost accounting.
AN SgiehT | SUieay sht Fferiad #el st syergr 8 foram S, avemsy
(1) Idle time (FRIEN TH)

(2) Packing charges (ﬁr%rr o)

Pass necessary Journal entries for the over recovery and under recovery of overheads

from the following information

frfoTfiad gemTetl o STET T TSR S=ATaRINT 3ht SiHet Tfaeat S

Particulars Incurred Absorbed Under Over
recovery Recovery

Works 78000 80000 - 2000

overhead 43000 40000 3000 i

Administration

overheads

What do you mean by machine hour rate? Give its merits and demerits.
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T S2T g 7T 91 THSId 21 38 AT T BT-3T 18|

From the following particulars compute direct labour hour rate of manufacturing
department.

uep it formr @ deiftar fmafarftaa feron @ geaer om ser ot o ufterad hifsg
Number of workers — 50

Working days in a month 25 of 8 hours each

idle hour in a month — 40 for each worker (50% of which may be treated as normal)

Factory overheads for the month were

&
Rent and rates - 2500
Lighting & heating - 400

Supervision - 4000
Sundry supplier - 1000
Plant deprecation - 900

Miscellaneous expenses - 2000

What do you mean by single. Outpur costing method? To what industries it it

applicable give name of ten industries.

$oRT3 AT I AT e ieh U & ST AT THFA 2 T8 AT Fohd I H ] AT SITedt
HEGEC IR RISy

‘X’ manufactures stool, chair and tables. The material and wages costs are separate as

follows.

X R T, A 3R et st frmior fopa s 21wl 3R o @ e e R -
Material Stool Chair table

Wages R.36 60 440

Production Rs. 4840 120
unit 600 300 60
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Total factory overheads Rs. 60000.You are required to determine the works cost of
each type of furniture after assuming that one table is equivalent to four stools and two

chair are equivalent to one table for the purpose of factory overhead allocation.

STIhT Tedsh T o 1o shl R AT JTd BT 2] ATS HRET TN forawor
o I U <foret 4 Tl oh ST 372 HRAAT 1 2foret o sIre /it S|

A factory has received as order for the supply of three types of costing weighting 36,

90 and 54 tons respectively 10% of raw material used are wasted in manufacturing and
are sold as scraps for 20% of the cost price of raw materials cost Rs. 500 per ton and
the wages would amount to Rs. 12000, Rs. 31500 and Rs. 16500 respectively. The cost
of moulds of extings is Rs. 1200, Rs. 1000 and Rs. 900 respectively. Factory
overheads are to be charged at 40% of wages administrative and other overheads at
20% of works cost. It is desired to earn a profit of 25% on selling price ascertain the
price to be quoted for the supply the different types of costing on the basis of the

above information.

T Bl A TR o ST (Sl oq) ol STl & AT T foRar fordeh S1ER
SHHRT: 36 T, 90 T qAT 54 T HISA hl AT(d HCA 2 ST qreft shr 10 whcrerer forsAfor
SITSRaT & &1 & ST & S o7awiy o &9 et o AT god o 20 Sfiwrd qe W e
ST 2| AT T {ed S00% SIfer &7 T et 21| 3T 12000%, 31500% T 16500 & 8
=T ST sht ST SRl BT B Tl 3h! AT ! IEGAT bl ST o Hiel hl AT SHH:
1200%, 1000%. TAT 900% 2| FHREMT IUNTT TcI&T 9 I 40 Terd o e & AR ST
& TRTTETR Te 31T SUNHT HREMT ANTA 2T 20 SfaRTd T 2| forshar ger o 25 Wi
AT ST AT 21 SUGeF YTl o ST TG 11 FehR oh ShIESTS] hl ST 35 (ohd
SEEISE REIRIULEICAIS LY

The following particulars of a work order are obtained from the cost records of a

manufacture.

e fHToreRdl o AT SATMeRdl & U Ukt o Heiel # TR FeTg STed g3 2

ASH
Raw material 64000
Direct wages 56000

Material transferred to store 800
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Material transferred to other job 400

Factory overhead 60% of wages 10% of the production has been scrapped as bad and a
furthe 20% has been brought upto specification by increasing the factory overheads to
80% of wages. If the scrapped production fetchers only Rs. 470, find the production
cost per unit of the finished product. If the total production (Including the quantity
scrapple be 100 units)

SEUTEH =T 10 SR HTet IO € oh shieoT Tg T feim T2 geieh SAfierd 20 Sfaerd Aret shi
frerfed T s T o foIe shramT Suftea Yeaer weiedl < 80 Fidwrd siern | e
o TR ATt o Tasha © 470%. ITed Bid ® a1 ffia arer i ufa gents <mra 3ra A, siefen

Hehel IcATE (TE HTT shl HTHT |fEd) 100 3187 2]

What do you mean by job costing? To what industries is it applicable? Discuss the

main features and procedure of job cost accounting.

Suehtd AnTd Tt fafer & s1a =R awerd ) 9% fohe TR % A § WY I ST
YT AT TR shl T TR TVaTstl Te Wisha o1 quid hifsrl|

From the following data relating to a contract extracted from the books of a company.

Prepare contract account as on 31" March 2013. Also compute the profit and value of

W/P for the preparing the final accounts.

Te AT o qeaehi § ol ook & Taiferd T e I9ared 21 31 A= 2013 T 39T @I
SIATEY qAT SAH T TR LA B AT F =] 1 hl 10T+ hifo

Material Issued 9000
Wages paid 50000
Plant Issued 75000
Supervisors salary 5500
Work certified 176000
Work uncertified 9000
Amount recelved 158400
Contract price 300000

You are further informed that (i) Work commenced on 1% Oct 2012 (ii) Wages of

workers for one week and salary of the supervisory staff for one month were due at the
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40

41

end of the period. (iii) Depreciation too be charged @10% per annum on plant (iv)
material at site on 31* march 2013 was Rs. 4200.

HTYhT 3 GG U 2| 1 1 | SFFZS 2012 T TRFT GIAT 2 HTHRT hl TF AT bl
TTE{l T T eTeh 3T Uesh HTE T - o1 Y 2| 3 T T 10 Ffarer e & | g =t
ISR 4 31 AT 2013 =hT AT AT AT 4200%. 9|

Distinguish between Job costing and contract costing.

U ANT FYTeor 37T 3okt AnTa iy § S1=a¥ srarga

Modern construction (Privates limited propose to tender for the construction of a
community hall in a new township and estimate their direct cost Rs. 150500 as

follows:
Direct material 70000
Direct labour (21000 main days) 63000
Cost of transport of men and materials 9000
Other direct exp 8500

150500

Existing commitments of modern constriction for the current year necessitate an
overhead expenses of Rs. 850500 against execution of work, the direct labour cost of
which amount to Rs. 567000. Assuming that the whole of the overhead expenses are
variable (for the sake of simplicity and tendering) calculate the estimated value of
techdering duly providing for (a) necessary overheads (b) Interest at 10% on average
cost of capital outlay and (¢) 20% margin.

TS FHrigaRT o =] a9 H ST T T 850500 F TN hl HTTTIHAT BT 3T 3T
Tl qOF A o T 91 Sl AT 567000%. TR T st 3f¥ §9g 7 8¢ R
T YN TRE-RIS &, 36 i o STATHG MRt 9 1 aieher o 3 JTaem™
A BY HITNTT (37) ST AN () S GSft AT 9 10 HTTa STt (/) 20 S
NI

What is operating cost? What are its objectrs? State the industries where oberating

method is used (only 5)

TR ATTd 8 SEd R SHeh T 323 R 37 SN o A1 Sd18d| SRl 9T REe dnTd
frertror farfey =1 s fopar StTeT 21 (3hetet 5)
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A truck started its journey form Delhi to Ajme with a load of 12 tunner. 3 tonner were
unloaded at jaipur and a further 2 tonnes at kishangarh. At dudu, a fresh load of 5 tons

wa loades.It was fully unloaded at ajmer.

Teh 2o o SATHT FTAT 12 T AT il S8l § STSTHY o foT Tiew 3h| /el g | 3 2 Hied
AT 2 T | {heMTe § SAW fem il g8 & 5 & ot 3R e fha T qem aeed are
HSTHL § IAR T 7T STolt AT H SASTH | 8 2 HIet e fohaT T o SHed Hiet STEqR
T AR =T T ST T 11 2 W i e ot T et TS Seet age o S
ST © S TIMT kT gl e 9o @ Seeft 2007, g5 70k, foRere 115 foRe
AT ST 140t

ATAT o6 UG Toraont & gl 21 fohetiviie qorm anforsesh o ferarteiet =it aftshe hifsy)

On its return journey it stated with 8 tonnes from Ajmer which was fully anloaded at

Jaipur. A fresh load of 11 tonnes was taken from jaipur which was unloaded at deli.

Distance from Jaipur are: Delhi 200 kms Dudu 70 kms, Kishangarh 115 kms, Ajmer
140 kms Calculate absolute and commercial tonne kms for the above details of

Journey.
How is the unit of cost determined in hotel costing? Explain with example.

BIeel ANTd @ik H ST hl SohTs vl Tt Y STTdt 21 3eTetur afed aHesa|

A practising charted accountant now spends Rs. 1.80 per km for taxi for his client

work how is considering two other alternatives purchase of new small cat or old big

car. The estimated cost date are:

T URI9eR F1EE THATITe 3 TTEehi o i o 1.80 . Widl TRt ol o foTg =22 shtar &
= 21 forehed formreie @ 7 7ol It SR 6 sht ST 37T GO shSt R 363 <hl M |
AT AT T [+ & -

New Small Car | Old Big Car (Rs.)

Rs.
Purchase price 70000 40000
Sale price after 5 days 38000 24000
Repair servicing etc. per annum 2000 2400

Taxes & Insurance per annum 3400 1400
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Petol perliter 10 km 7 km

Rate of petrol per liter Rs. 7 Rs. 7

He estimates that that he goes 10500 kms annually. Which of the three alternatives is
cheaper? If his parcties expands and he has to cover 21000 kms annuity, what should
be his decision? Ignore interest and income tax. SHT TTHT 2 fF 38 T 10500
foretrtex wfc o 2w st gt fiHT forehedt ® & i w1 forshed wrear ) afe 3ueh el |

foream @1 S o 38 ¥ § 21000fFH TE KT 92 9 e Far Foly g =y sas
AT STIHT T LI 2] T 2l

Explain normal wastage, abnormal wastage and effectives. How should these be dealt

in process cost accounts.

AT &7, AT & AT ST S=id shl GHHATSY| UshaT STTd i@l § SehT oikaT fohd
YehTT ToRdT ST 2|

The product of a manufacturing company passes through two processes A & B and
then to finished stock. It is ascertained that in each process 5% of total weight put in is
lost and 10% scrabe which is from process A and B realise Rs. 80 per ton and Rs. 200

per ton respectively. The following are the figures relating to both the process;

e HrOHT g fAfHa sreq @ o sft & afsramstl g qut ot Stk ffda w1t | |fiferd st
STt 81 98 1 3T R ek TSR o el R T 5 WwTd &7 2 S & aer 10 wfwra
I o ®Y H ITo BT 81 TTshAT T KT 7Y 80 & Ui 2, Tfshar ff 1 200 & Ufded &
feramer & srer e e 21 wfsham wefeft grd SwEa & -

Process A Process B
Material Consumed (Tons) | 1000 70
Cost material per ton (Rs.) | 125 200
Wages (Rs.) 18000 12000
Manufacturing Exp. (Rs.) 6000 15000

Prepare process Accounts showing the cost of the output of each process and cost per

ton.

TfSRAT WTd ST Tcdeh UTshaT shl IcTeT ARTd qe Yfded dnTd J1d hIfsTu)
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What do you mean by process costing? Explain its importance. Name five industries
where it is applicable.

gfskar @ Ferfwor fafer & so T AWed {1 SERT HEcd GWETSY Ui A o AT
AT STet U 38 e 1 ST Tk T et 21

PQR Itd produces a product which passes through three distinct processes. The

following cost data are available for the year ending 31 march 2013

o, Y, AR fAHES Tk IS 1 IS HLd @ S A1 T TTshamatl | et o &l 31
HT= 2013 i GHTT 814 ATt I8 o fofe freferfad Smd gees Sucsy @ -

X y X
Materoal  cost of  units | 600000 | - -
introduced (1000) 120000 | 70000 20000
Wages 28000 | 30500 3420
Overheads 50, 10% 20%
Normal loss (on input) 50 30 (units) 51 (units)
Scrap @ Rs. 200 per unit (unit) 1250 2100
Selling priceperton 850

Two third of units processed in process X and one half in process Y were transferred
to next process and the balance were sold. Management expenses amounted to Rs.
15000 and selling expenses Rs. 13000.

You are required to process accounts and statement showing the profit for the year.

TSR o § U hl TS Sh1sal | U 3 faeTs 9nT a T Ui aTs shl Sehtsal SRt SATHT W
SATAT TTeRAT H TG T T T 37X W o= feam TR Yeshie S5 15000% a9
forshar == 13000% 211

HTIehT FT5RAT W T Y T AT fo@Td g T oramor o i T 2

Explain clearly the difference between by product and joint product. How are they
treated in cost accounts? TS U HE IcUTE U I THATEY| TTshIT AANTd | SHeRT @
fope Wb foRarT STTaT 21
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The joint cost of making 50 units of A, 100 units of B and 150 units of C product. is
Rs. 9000. From the following information show the apportionment of joint cost and
the profit of each product under these methods (i) Physical measurement (i1) Market
value at separation point (iii) Market value after further processing (iv) Average units

cost.

IAUTE 3 HT 50 3HTEAT S 1 100 FHTSAT qATH 3hT 150 FHTSAT S hl HIFA AT 9000%.,
&) A gEmTett o SATUR T €A AR o1 STHTS qT Teieh 3cA1E WX AT T §7
TR 0T T ShIfoRT © (1) wiifersh 71T (2) ToraTS foreg o2 TSI 90 (3) 37T SR sk
o TYETd SISTR q¢d (4) 37d 3915 ArTal

A B C
Selling price at the point of seperation | Rs. 40 Rs. 60 Rs. 80
oer unit Rs. 200 Rs. 1000 | Rs. 2500
Process cost ofter separation total Rs. 60 Rs. 70 Rs. 100
Selling price after further processing

Define and explain. Joint product and by product Explain the brief the various

accounting methods of by product.

HFH TS TAT IYICATE shl TICATIN ShITST AT FAHATSY IATCTE hieh] sh forferT ferferat
=l H&T | THETST
Calculate the estimated cost of production of by products ‘X and “Y” at the point of

separation from the main product.

T 3CU1E o JUFhIohl foirg TT SUIcdTE X T Y shl SwTferd Scqted ST b Iieher
EAS L
By Product X Y

Selling price per unit Rs. 12 Rs. 24
Cost per unit after seperationrs. 3 Rs. 05
Output (Nos) 500 200

Selling Expenses: 25% of total works cost (per and post — acquisition taken together)

profit 20% of total cost (Sum of works cost and selling expenses)




(i)
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forsra = — 25 WToRTT SHEMT ANTG T (F8 q9T 918 ST 6 AT A gA( 9 FHied ArTd
(TG AT T fershar 231 o ANT) 3T 20 Tfaera

What are control accounts? Give suitable examples and explain their advantages.

AT 07 W 2T 2| Tl SaTeLoT SHISTT T Iefeh AT T3]

Make necessary journal entries in cost Books for the following transactions which

took place during the month of August 2013
TR ST 2013 | Hellerd FAifepd se@ri o [T T Jedeh H St Sfafsa i -

Material purchased

(i) Credit purchase 10000

(1) Credt purchase for special job 500

Cash purchase - 3000

2 Return to supplier 1000

3 Direct material issued to production 1100

4 Indirect material issued to production 400

Material returned from production to store 200

6
|

55

56

Material transferred from Jobno 9 to Jobno 17 400

What do you understand by recovered overheads and actual overheads? How is the

difference between above treated in cost account wen cost control system is followed.

I TRl T SUREAT o Aok ST & T THEd 2 AT (+=107 T 9/ H $7
ST o ToAT AT SFae R fore Ter I T STTaT @1 emesy

The following figures have been ascertained form costing record and financial books

of a factory.

o

ffoTRaa T Teh Sl & AT SAMoal Ue facd ™ i@t & 3uetst fohd T 2
Purchase Rs. 390000

Carriage in wards 5850

Stores issued 358800

Productive wages 346320
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10
11
12
13

Unproductive labour 121680
Works overheads 348400
Material used in repairs 3120
Cost of comple to jobs 1280630

Pass necessary entries in the cost jounal of factory assuming that a historic system of

control accounts prevails in theorranisation.

FFI o AN SHA § e TAieat HiNg, 98 Hd Y o der § Ufderiie arma
ERERRFARRC RIS IS

indicate the reasons why is it usually necessary to reconcile the cost and finanical

accounts of a factory and explain the main sources of difference?

Teh TN o fIcd 1 QT qAT ANTd @l hl fireT for Son 8 ST1a9aes © a7 348 37T

T |14 I i ¥ 2 T

From the following data prepare a reconciliation statement:

frfcTRad Tehi & TuTe faawor 9o dar shifsri|

Profit as per cost accounts 25000
Works overheads under recovered in cost 9600
Selling and distribution overhead recovered less in cost 6000
Administration overheads recovered n excess in cost 3000
Valuation of closing stock in accounts 40000
Valuation of closing stock in financial accounts 34000
Depreciation enarged in financial books 30000
Depreciation recovered in cost books 32000
Preliminary expenses written off 16000
Donation paid 6000
Interest and dividend received 2000
Transfer fees 1000

Loss as per financial accounts 10600



59 Differentiate between reconciliation statement and memorandum reconciliation

account. Give an imaginary memorandum account.

AT fIewor o F T gHTST WTd ° A= HSTST 92T Ueh shicdi-eh THT0me} ETdT
EEIEY

60 State with reasons whether profit as revealed by cost accounting will be higher or

lower than financial profit in each of the following cases:

frafafaa g feafa & swror afeq sared for focd g it smem arma v sifees

3T = BT
Items of Stock Valuation in cost Books Valuation in financial
Books
Raw material (opening) 100000 120000
Work progress (Closing) 120000 100000
Finished stock (Opening) 100000 120000
(Opening) 120000 100000
61 Differentiate between marginal costing and absorption costing,How is marginal cost

statement prepared?

=T AT iR qAT TN AT AEiohd | T =X 22 HHHd dNTd foreor o
for gen SR foma STt 22

62 The following figures are presented before you:

o

H19eh FHeT TrrfeTiaa @Heh e IERRICEE

Year Sales Profit /Loss
2012 Rs. 100000 Rs. 10000 Loss
2013 Rs. 400000 Rs. 5000 Profit

Calculate the following FraferRaa = ufterem Fifsg

(a) P/V ratio (ST HIST ST
(b) Break even point ( @AY foieg)



(©)
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68
(i)
(ii)
69

Percentage of variable cost sales (fsrshl W uftard=efier @mTd st gfdem)

Draw a break even chart with suitable imaginary data and show break even point.

Angle of incidence and margin of safety on the chart.

SUT I {Toh ok oh STTETR 0T Ueh HHforeess < STt S8 T & foreesg fofeg ST o1
SRI0T T LT |1 FeiRic shifsy)

The P/V ratio of a firm producing a standard product is 50% and the margin of safety
is 40% compute the break even point and the net profit is sales as rs. 5000000.

Te H SIT SHTY 3T1E 3T [HHI0T LT & SHRT ATHHTET AT 50 TTTa o e €T 40
sfcreT &/ Afe ®H g 5000000%. AT forsh T STt @ d gwfereess (AT formg) qorm 34
AT hl qRIUET shifST)

Explainthe meaning of standard costing. State its advantages and limitations.
SHTY AT TR ol 372 THEATSA| $6eh AT o HIHTAT h STcrsd|
Explain the procedure of establishing a system of standard cost accounting.

THTT ANTA AGioh hl il shl TATIUT T <hl TfshAT T Iui i)

Define and explain standard costing. What are differents types of standards. Explain

them.

THTT AT TREioh oh! TIAT ShIfSTT 37T 6ehT 371ef Tremed| JHaT o fofirT Tenr = 2,
SRR

Distinguish between 3=i{ a?nsﬁ

Standard costing and budgetary control (SHTY TRTA ci@ieh T sIsied ﬁ?ﬁUT)
Standard cost and estimated cost (SHTT TRTd Tel C‘Hfl}lTﬁ?f [NINK))

The standard cost cards shown the following details relating to the material

requirement to produce one kg of groundnut oil.

T forell JIThett oh o SeaTer o) (-1 HeTS, © — U HTE o afoieh ScaTer |
Quantity of groundnut - 3kg
price of groundnut Rs. 1.5 per kg
Actual production data for a month are

Production during themonth 1000 kg



Quantity used 3500 kg

price of groundnut per kg Rs. 2 (two)

Calculate 9TeheTT ﬁﬁrq
(a) Material cost variance ST STA fareror
(b) Material price variance 9Tt g foremor
() Material usage variance 9THIT SURTT/ATET fererT
70 Explain and illustrate the following variances:

freafefaa fammon & diterer faftr seewr afea aazms)
(i) Labour mix variance (79 fersror foremor)
(ii) Labour yield variance (59 3quTe fo=mor)

71 Calculate material variances from following details available for particular period: Ush

fafsra srafer o gefta Fafaiaa foerom o gl foeron o1 gfiera hifs -

Standard Actual

Material Quantity Price Quantity Price

A SkgRs  8perkg S5kg Rs 7 per kg

B 4kgRs  6perkg 4.5 kg Rs  7perkg

C 2 kg Rs 12 per kg 2.5kg Rs 118 perkg
72 Maheshwari Bros has specified the following standard cost for a product:

Te ICTG o Gl H ATevar] o=+ e ST S feru & -
Time 10 hours per unit @ Rs. 5 per hour

Teh 3hTS oh [T 10 5 5 ® AT B hr a0 d

Actual for a period Us ffera stafer & areafass g
Output 1000 units in 10400 hours

excluding 400 hours Idle time



Payment made Rs. 56,160 (Average Rs. 5.20 per hour)
Calculate labour variance (519 oot =it afamomT Hifsm)

fAraeerTenss 921 (Essay type Questions)

1

What is meant by cost Accounting?
Explain the advantages of cost accounting.
AT SR | ST FIT THET 27 T AR oh AT shT HHATE|
“Two of principal objections against the installation of a costing system in a factory are
that:-
1. Itis unnecessary

ii.  Itis expensive
Discuss the above and show in what way and to what extent these are not correct.

foreft shTC@™ H AT T g ] i o qe HT&di H 9 31 9% @ foh -

1 I ST 2
2 Ig Gfet 2l
Iyder fo forararm hfre o srarsd o o formr wifer o forer wftam oo &0 & &t =i 21

Give the different techniques of costing and explain them.
iR sht farfir= Ifarferit sargar 37T 3R "wems)

What do you understand by mechanization of cost Accounting? Also its advantages

and limitations.

AN @l o HYRT 8 3ATT I GHEd 27 9ok 19T U HHT3AT ohl THESd

Explain different elements of cost and also explain its interrelation- ship.

AT o ToIT¥= qeall T AT o ST ol THETd 5T I8 ot Sars fof 34 ot 1T Haig
27

The following information is available from the records of a manufacturing company for

a month.
Stock of Raw Material
Opening Rs. 15000 other works expenses — Rs.

42800



Closing Rs. 12000 Establishment Expenses —Rs. 10,000

Raw material purchased 77000 selling and distribution expenses finished
Goods stock — Rs. 30,000
Manufacturing wagesRs. 20,000

Non productive wages Rs. 8000Expenses Opening Rs. 6000
Experiment expenses Rs. 2000 Closing balance Rs. 16,000

Wastage of material Rs. 200

Sales of furnished Goods —  Rs. 200000
You are asked to prepare a statement of cost showing

(i)  Cost of Raw material used.

(1)  Prime cost

(iii)) Works cost

(iv) Cost of production

(v)  Cost of Goods sold

(vi) Total cost

(vil) Profit on sales

e fmtet sEoT o ol @ T AT o forg fmfarfad e sueey 2 -
JTYeh! T AT a7 U5 (IR AT © ST feAferiad i yafiid =i ¢
1 S el ALt

29 AdrTd

3 ShIEMT ATTd

4 3T ANTd

SEEREIRSIUE]

6 % ATT qAT

7 forshar ar @y

Closing the following in cost sheet:-

(i)  Interest on debentures
(1)  Carriage out wards

(iii)) Bank Charges



(iv) Commission on Agent

(v) Haulage

(vi) Hospital and Dispensary expenses
(vil) Material storage charges

(viii) Drawing office expenses.

EVUREIRIS]
EICERICIR IS
EEACIEE

TSIV HHIH
3T

AT T
It U
A manufacturer has shown an amount of Rs. 16190 in his books as “Establishment”

Which including the following:-
T FmTaT = 7ot qedehl 3 TATOHT o &9 1 16190%. 3t Ty it & fe e aftafera

01 | Agent Commission Rs. 5750
02 | Ware house wages Rs. 1800
03 | Ware house repairs Rs. 510
04 | Ware lighting Rs. 70
05 | Office Salaries Rs. 1130
06 | Directors fees Rs. 1400
07 | Travelling Expenses Rs. 760
08 | Insurances of Ware house | Rs. 310




09 | Insurance office Rs. 230
10 | Lighting ware house Rs. 270
11 | Printing etc. Rs. 1500
12 | Trade margins Rs. 70
13 | Donations Rs. 150
14 | Bank Charges Rs. 100
15 | Discount Allowed Rs. 1970
16 | Bad Debts. Rs. 170

From the above information prepare a statement showing totals of :-

(1) Selling overheads
(i1) Distribution overheads
(i11) Administration over head

(iv) Expenses
You would be disregard in estimating costs.
S e & e ot i frand g o o e
1 forshar sufea
2 foreror 3ufema
3 yRTTETe U
4 = TS 31T ANTA T ST T EHT B od 2

9  Outline a systems for efficient hand ling of stores in a manufacturing business Give

specimen of the forms which will be used.



forelt ek fomioft sararm # wraft wefelt speret serr fore Jerr s T? S St ot ol
U3 T Y

10 A Factory requires Rs. 1500 units of an item per month each costing Rs. 27 the cost per
order is Rs. 150 and the inventory carrying charges work out of 20 % of the advantage
inventory Find out EOQ and the number of orders per year.

Would you accept a 2% price discount on a minimum supply of Rs. 1200 units?

Teh et 1 gl Y forelt e Y 1500 SRt ot ufe HeT it rersdendr BidY ]1 foreht
AT T 3hTE 27%; B1 T 3T it AT 150% a7 HURAT H $Heh T T T Gt
e oh 20 STt (3T graigl W) 55 B @] SAT[efeh STIG Al HEAT 2T 9 H f ST afred
STTGRIT <hT T o1 faftor Sifsr

AT AT 1200 FHIFAT 3h1 B T 2 T Sg T AR AT 31 ST Hhel @2 AT 319
T TfteRd A hl TeTE 32

11 Write short Notes on
1. A-B-C Analysis Plan for material Control
2. VED Analysis
3. FSND Classification of materials
4. JIT Classification of materials

feoafort forfiesr -

1 greft frsor i A-B-C foreeisor Jismr
2 I forgers o
3 | ST FSND afiehton)

4 JIT TorIm &

12 In manufacturing its product a company uses three raw materials A,B,C in respect of
which the following apply.

Teh 3cATeeh 1 fAHT0T § Wk hrad A, B T C ol TohR shl GTHI T T ot 2| foreres aex
STANEA & -

Raw Usage per | Re order | Bill per | Delivery Re- order Level Minimum Level

material units of | Quality kg. periods

product




Kg. Kg. Paisa Weeks Kg. Kg.
A 10 10,000 10 1to 03 8000
B 4 5000 30 03to5 4750
C 6 10,000 15 02 to 04 2000

Weekly production varies from 175 to 225 units averaging Rs. 200 What would you
expect the quantity of following to be?

® Maximum stock of -A 3ferhdd ik
® Maximum stocks - B 3T&ehd® ik

® Re-order Level - C T TR T
Average Level of - A 3 =

13 Discuss the different methods of pricing of materials issued for production and explain

their advantage and disadvantages.

Scqred o forg fifia wrmelt o wearien st fafve fafert st foremmm shifsig qem s 7or 9
ERERIE

14 Records the following transactions in the stores Ledger Accounts of x Ltd.

X Ltd 3l TR @ et § 7 SAagri i §s1 hifee -
15-01-2013 Receipt 250 Units costing Rs. 312.50

21-02-2013 Receipt 250 Units costing 130
24-03-2013 Receipt 50 Units costing Rs. 67.50
05-04-2013 Issue 55 Units

19-04-2013 Receipt 50 Units costing Rs. 70

25-04-203 Issue 300 Units 300




03-05-2013 Issue 40 Units 40.

The issue on 05-04-2013 and 25-04-2013 were periods at LIFO and FIFO basis
respectively, as from 01-05-2013 it was decided to price the issue at weights Average

price.

TTTH 250 SeRTSAT; AT 312.50

ot 55 geprsa

gt skt ffa 5.4.2013 997 25.4.2013 1 SRAT: LIFo 99T FIFO 3TYR 9 fokam = o
01.05.2013 & =g e fora T o 8o ae i wmmelt =t Ao Wiitq 3fied 3o
ST YL ST ST

The following is an extract of the record of receipts and issues of sculpture in a chemical

factory during the month of February:-

Date Receipts Quantity | Rate
in tons

February 01 Balance 500 200
February 13 Receipts 200 190
February 14 Refunds 15

February 20 Receipts 240 190
February 25 Receipts 320 190
February 27 Refunds 35

February 28 Receipts 100 190




Date Issue in tons Quantity in tons
February Issue 250
February Issue 180
February Issue 300
February Issue 115

Issues are to be period on the principal of first in, first out. The stock verified of the
factory had found a shortage of 10 tones on the 22" and left a note accordingly/ Draw

up period stores ledger card for the materials showing the above transactions.

| A T T SIH o TR o SATER 0 edish i 8| el Sema sl 5 22
HEEdt T 10 2T WIS ol HHT o S H SIHeR UTed o1 |t qeish O SHTeRt SWiad o
BRI

HTeT shl SHHT Rl ShIREHT YT HHT 2l

16 A timber merchant purchased 600 C. timber Rs. 200 per C. ft. on Ist January 2013. The
timber was put in the yard for seasoning for a periods of six months during which the
following expenses were incurred.

a) Rent of yard Rs. 480 per month.

b) Salary of watch man Rs. 600 per month.

¢) Insurance charges 04% of timber cost before seasoning

d) Incidental charges Rs. 300.

e) Loss on volume of logs due to seasoning 10%.

f)Half of the yard is used for seasoning and the remaining for stocking the seasoned

timber Ascertain in the cost per C. Fit of seasoned timber.

1 S 2013 =1 Th Ahs! o SATIRI §RT 600 BT TTehel 200 & Fid BHE T & T 56
&1 7T offl TR HT TRTEET ¥ 6 WIS o T g AT # @ T e gei o
frfofiaa ford T o
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AT ATE IREFEdT o qUT ST GRuae A6t i Tad 8q FE H [T Sar 8 aiaea
RS T A BHE Hed J1d 2hifeg|

Give the specimen ruling of the following and explain the purpose for which they are

used. frmferfad o T SSTC qert srqetsy 6 3 for Sezat ot wid o foTe s fort sird @
(a) Daily muster roll e Suftafa ammeet

(b) Timecard ¥HT 9=Th

(C) Price wages card &/ LECURER]

(d) Job card SUFHE TH

18 Write short notes on Gfefed fevafor %ﬁ'\@ﬁ -

(1) Wages abstract lqaac'\{”[ qr

(ii) Overtime 3Tfer Tm=y

(iii) Idle time FTEEH T0T

(iv) Labour time %™ faerret

(v) Wages for holidays and leave period @‘EEI}TQH STIHTIT TS T TR THE

fafafad § 3w Farsa

19 Distinguish between the following

(1)
2)
()
4

1
2
3
4

20

Direct wages and indirect wages
Idle timeand overtime
Idle time and Ideal time

Job card and time card

TcIE T AT FIT

EQPRER DGR BRI D]

EIRPHER LR RS LD

EQRRECAER DR ECH
Calculate the earhing of worker p and q from the following particulars for a month and
allocate the earning to job A, B and C

Te TT8 H T forewor & off qom o Aifient o oTRieh oht TOMHT ShifSr qem aTietie
Juehrd U AT, o €, # farfora i -
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(a) Basic wages for the month Rs. 2000 Rs. 2000
(b) Dearness allowance 50% 55%

() Contribution to provident fund on

basic wages

(d) Employee state insurance (on basic 8% 89,
wages)
(e) Overtime
2% 2%
() Iddle time
10 hrs
16 hrs.

The normal working hours for the month are 200.overtime is paid at double the rate
the normal wages plus dearness allowance. Employer & contribution to state insurance
and provident fund are at equal rate with the employrs contribution. The month
contains 25 working days and one paid holiday. the two workers were employed on

jobs A, B, C in the following proportions overtime was done on Job B.

TTE o AT 13 o B0 200 8 | SATHHT hT AT QAT HSigll qofT Hews Hed ohl g
T W R STt 21 TS sy qr wfasy f[ftr O fefiear &1 e FHER % 3iNEE &
SRS & 81 W18 W 25 S foad 8 Q1 WA foRar ST aTel Uk STaehRT foad 21 & Siteht
1 Q. a1 & Suehral oX e Sl 6 e foram mm stferemar sushrl st o fopa T

2l

Job A B C
Worker P 40 30 30
Worker Q 60 20 20

Explain briefly different methods of bonus payment.
e AT T ot fafsr wgforlt =t wara o aiq shifs

Job are issued to X worker to make 189 units and to Y to make 204 units for which a
time allowance of 20 standard minutes and 15 standard minutes per unit respectively is

credited.For every hour saved, bonus is paid at 50% of basic rate which is Rs. 2 per




(2)
(b)

23

24

hour for both employees. The basic working during a week is 42 hours. Hours in
excess are paid double the normal rate.

X Completes his units in 45 hours and Y completes hs units in 39 hors working for a
full wee.Due to defective material, 6 units of X and 4 units of Y are subsequently

scrapped although all units produced are paid for.
You are required to calculate for each of X and Y

The amount of bonus payable
Total gross wages payable, and
The ways cost good unit made

STtk T T 189 IHTSAT IR ATk A1l 204 FHTSAT s T <F STt 31 FSroek fag
SFRT: 20 FATT fife i gers 3R 15 ST farfe wiftr 3ot shfee sht STt 81 Teish s=imd g
HU¢ o ToTT et &S 2%, Wil =0T &, T 50 IRivTd S T ST 21 T |ealie | 42 =0e
T BT €, 3O ST HUE FHIH o6 [eTT AHTT G T &1 AT AehHT STl 2

T o ST SIS T 45 B0 H T 1S § 39 =vei # il hl a7 (L Eware Rl i) Qi
T G o HROT 6 FHAT T hl S 4 FHISAT TS 1 T8 L &l TS, AT T aeft
FHTSAT oh AT foha TTIT B TRt o 31 18 Tcdeh o Tt Iiehet shiaT ®

3) < S shi T o) 7 el Hehed HSIgl T H) S =T 35hTS 27H AT

Write short notes on
Hferaa fewforr fafa
(a) Toylors differential price rate system <eiX dircle\iord T o farfer
(b) Merrick’ stiffer entail piece rate plan uﬁﬁa?,riaaawrﬁawﬁw

(c) Collective Bouns scheme HTHEe SARIATHIT FSHT
(d) Emerson’s efficiency scheme TG R AT ISTT

What earning will a work man receive under the following incentive shames if he
executes a piece of work in 120 hours as against 150 hours allowed to him. It is hourly
rate is 25 paisa and he gets a dearness allowance of Rs. 1 pe day of 8 hours worked in

addition to his wages.

AT SROTTeHe: JISH3TT % ST=HId U e hi ASIgl T3y ATS I8 1 1 150 W
% T W 120 =V H T T AT 8, I Wi HUST & 25 I 7 SR 39 36! Al ok
arfafier 1 &; wfde (8 1 o1 Uap o) 3t 0 & oS weat firerar 2 -

a) Halsey premium plan, 50% bonus to workers
(a) yp p



25

26

(b) Rowan plan and
© Emerson’s efficiency plan

D and E are service departments with respective totals of Rs. 1000 and 2000 of
overheads to be apportioned on inker service department basis on the basis of
percentage given in the chart below. Find out the overheads of production deportments
A, B and C assuming the total of ABC being Rs 4000, Rs. 3000 and Res. 2000
respectively before distribution (by repetitive distribution method)

2t 3R S 7 T T ® 3T 37k SUfteat o TN shAsT: 1000 &. T 2000 F; & ST o SUie
|1E | &Y T ATl o TR T SAqEdT iy AR o SIwiierd ford ST 81 Tt qen
Ht Icdre forml o et IuRIT I8 HIF L F1d hiTC foh T, off, & o 0T S1qwisH & qd
SHRT: 4000%., 3000 & o 2000 & &1 (TSl foreror forfer )

Production Deptt Service Deptt.
A b C D E
% % % % %
D 20 30 40 - 10
30 30 20 20 -

The following information relates to the activities of a production department of a

factory for a certain period.

Teh R o SeaTe T § eiferd fordlt e stafer o fore e gt 8 -

Material used Rs.100000
Direct wages Rs. 50000
Machine operation hours 10000
Labour hours 15000
Works oveheads rs. 30000

On one work order carried out in the department during the month of march, 2013 the

relevant facta were
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28

29

30

Material used — Rs. 8000
Durect labour Rs. 6000
Labour hours 1200
Machine hours 900

Calculate the amount of overheads chargable to this eork order by five different

methods.
T TR hI bl THTNG i o fora Sufteaar sk wist ui= fafs= fafermt gro gma ifsg

Should interest on capital be consider as one of the item of cost accounitngor not?

Give arguments is support of your answer.

T YSH O SATST ANTA e 3T e HE HMT ST =18 LS a1 ? 379 Ieak ol I8 |
[ERESCEAIE LY

Shridhar Ltd. use three identical big and six identical small machines. From the
following information availabel for the year 2012-13. Calculate machine hour rate for

each large and small machines for each large and small machines taking a period fo

one month as basis. #eR fafies grT 9 TR 1 St 9T T: G THR AT DI AR
T T fora STTaT Rl

Rent and rate — 6000
Lighting (to be apporth oned in ratio of worker) 1200
Insurance (Large machine) 60
(Small machine) 45
Write short notes
wHfere feea ot fetfer
(1) Research & Development expenses SATHHT T ferre =2
(ii) Royalth 3T/ oh
(iii) Insurance and depreciation of (Building and plant) Wa- s € kT s{THT U B9

(iv) Cash discount and subscription ehd S T
(v) Bad bebts sl 0T

Compute machine hour rate from the following particulars relating to machine shop of

a factory .



U hadl Sl A S @ Geifera fe forftae oot & aefter sver <€ st it Sifs -

Expenses per annum 15600
Power 3200
Lighting 6000
Supervision 6000
Rent & Rates 3883

Reserve equipment 330

Y 2012-13 | Hellerd Iucredy T T3l § T HI8 i STUR WA 8T T 8] 9 T

DI 73 & 7T gefia gver o s uftera Hifs

Big machines

Small Machines

1 Annual working hours of each machine
2 effective life of eachmachine (hrs)

3 Cost of each machine

4 Scrap value

5 Area occupied by each machine

6 Number of workers on each machine

7 Power consumption per hour by each machine

at a cost of Rs. 0.60 per unit

8 Repair and maint enance for each machine

during effective life

9 The managerof the factory supervising equally
all the machines devoting half of his time for

supervision is paid Rs. 4500 per month
10 Other monthly charges of the workshop were
Repair

Depreciation

1800

20000

103000

3000
1/6

5 units

25000

7326
3900

1800
12000

31000
1000
1/12

1 unit

7500
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32

33

34

There are 12 holidays besides sundays in the year of which 2 are on saturday. The
factory works 8 hours in a day but saturday are half days. All machines work at 90%
capacity throughout the year and 10% is risible for breakdown. There are 5 machines

of same type and similar.

Define under absorption and over abssption of overheads. What specified method of

treatment do you advocate for these items in.

SUNERIT o =[ATERINOT qAT SR HT TRATNA IS $TRT AT @l § e
L B T I fafiree farfer 1 =T s ar?

Compute machine hour rate from the following data.
frfeTRaa awent @ wefie sruer <t g sht oA Shifsie -

3CATE o THATE AT 1/3 AT 36 WA 0 Al LdT 8| Afedl shl & 3%, <feermer @)
I 8¢ A o AT 7N 7l 91k A1 ST e 2

Discuss the objects of cost sheet. How does it different from a production account?

Give examples to show their differences.

AT U o e 1 fodemt SifST) o Icured @rd | fohe Jehr =1 82 3aTeT0T ad g
e IR RIED]

The cost of manufacturing 5000 units of a commodity comprises of as follows:

Teh R 31 5000 FHTSAT hl AT AT FhR & -
Material 20000 Fixed overheads 16000

Wages 25000 Variable overheads 4000

For manufacturing every 1000 extra units of the commodity the cost of production

increase as follows.
Material propertionately wages
able expenses — Nil, Fixe overheads

25% extra (200 ) variable overheads 25% less than pro 25% calculated the estimated
cost of producing 8000 units of the commodity an show by how much 1+ would differ

if a flat rate of factory overheads on wages were charged.



(1)

(i)
(iii)
(iv)
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ST 100 Sfafie ag 1 3HTEa o 3T o AT § i, e Jehr Bt 2

Calculate

Break even point,P/V ratio and margin of safety.
Number of units to be sold to ean a profit of Rs. 3600 in a year
Sales value needed to earn a profit of 10% on sales.

Selling price per units to bring down BEP to 100000 units of the product.

TTET HEIHT Y TR IcaTE &THAT 440000 FHTSAT fr I {1 AHT R 360000
gTEl Sfday uTHl ST gehdt 81 uftedasiier il s (wmft o o ) g9 2.20 gt
TRTS T T Tt = 108000 E9 Wica 21 forsher @ qarawer o e Werfr & =
50400 T s qT TRE-RIT 2 0.60 T T 391 ) o562 777 4.00 W 373 8

T AT -

1 o fereede foirg, SAvTem, STuTd, Gee €

2 . 36000 JTfh 3T AT HSid LA o] forshar sht ST ATt 3ohTga sht we
3 fosraoe 10 witera @ AT T B AT fosea 6 i

4 100000 3ehTgal T & foreesg foreg Suetsst i 2q i gohTs forsher g

T & I 8000 3HIEAT o IcATE hH! TG TRIG A HISY AN I Tz hl
FHIEHT IUTTT T Teger o o ®efl o Iret ol ST ot 38@ foma T 31=aT gl

Write explanatory notes on.

AT fewfor farfan

1 Valuation of work in progress. = |<'1t_\°h|¢7 RIS Tohe]

2 Valuation of finished stock. ¥ #Tet % &2ieh 1 Heieh
3 treatment of wastage and scrap %9 Ud TN FT AGTHT
4 Ascertainment of tender price ffeat HT 1 et

Form the information given below prepare a statement showing cost of goods
manufactured and sold and profit eaned.

frfarftad gemmstl & uioerr vt aamgy forad ffia arer st @, fosht 6t ama qen
It 1y izl e Rl
2012 August 1 2013 Avgust 31 Rs.

Inventory stock 12000 12900
Raw material 12000 18000
Finished goods 21000 27000
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Other data — salesoveheads Rs. 5100, office overhead
Rs. 3900, direct wages Rs.24000 (120% of factory overhead
Cost good soldRs. 8400 Sales Rs. 125000

What is contract account? How is it prepared? Give a specimen of such an account

using imaginary figure.
ST WIAT fohdl HEd &2 I8 ¥ ST ST 87 FhIe(eh THbT T ST L 8T 36 WA 1
Teh ITEY § E Y

The following particular relate to a contract under taken by a firm of engineers

Teh i1k BH o ST T T ek 3ohT 1 @ Telford a2 9 TR & -
SIS ST R ¢
Material sent to site - 64500

Labour engaged on site — 54800
Plant installed at cost - 11300
Direct Exp. — 2400

Establishment charges — 3250
Material retur to store - 400

Work certified 143000

Cost of work not yet certified — 3400
Material in hund 31 Dec — 1400
Wages accured at 31 Dec — 1800
Direct exp accured at 31 Dec — 200
Value of plant at 31 Dec. 8200
Contract price 200000

Cash receive - 130000

You are required (a) to prepare contract account showing profit (b) to prepare
contracted account (C) to show suitable entries in the balance sheet of the contractor.

Machine cost — 130000
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Lfir 10 year (Deparceciation straight + line method)
(T BT et X ugh)

Departmental overheads

forvmter Sufer )

Rent and rates Rs. 50000

heat and Light Rs. 20000

machine subervison Rs. 130000

Departmental area 700 sq mts.

Machine area 255sq mts.

Number of machine in the deptt 26

(Feram & wfiet <t wem)

Annual cost of reserve Rs. 1500

equipment ofr machine 200

Power cost per hour while in operation 1800
(TR STTa frereT ster gl giere | &)

Hour run on production

(IS )

Machine setting and adjusting hour (Ifﬁ'ﬁ:ﬁ T Y TATEHTAT L hT gHY) 200

Indirect labour _ One workman 10 required to give full time attention to the machine
during setting and adjusting time. During production time he devote A one third of

work hour. The machine consume 50% of power during setting and adjusting time.

) ST W1 o) SHIETAT T WIAT §) ShaR ! Gedenl  forer foem fafv= wet =t wefkra
FAEY

STIIET 9 — T 1Ttk oh1 36 AR b1 ¥ A T Stk o o TH & €T &1 Il 2

What are the special features of nearly completed contract? How is the profit taken

into account on such contracts. Illustrate your answer by giving examples.
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Teh THTHT T6l oo ol T ToRIVaTd 82 36 TehI o Sehi 0 AT feeTel o fohdt bt forarm Stran
2| IETELO ZRT T I b T (Y

The contract ledger of M/S lucky engineers reveals the following details for four years.

o ek s ohY SepT @raT e # =R ANt % ferferRad ao suerey € -

Year I Il 1 v
Material 47000 80000 250000 50000
Wages 100000 200000 80000
Overheads 50000 5000 16800 2300
Work 4000 30000 40000

Unccertified 10000 )
(ITHTUTe T

Work certified
during the year 100000

@§ & <NH
THTfuTa T

200000 500000 200000

Captital eqvipment at the commen cementofthe contract was Rs. 5000 and at the end it
was valued at Rs. 40000, a contract price was Rs. 10 lakhs and 90% of the
workcertified was received in cash, balanbce was received on completion of the

contract show contract account for four years.

3% & TRF § 5000 . T G T TR T Skt Je 31 07 8 o R &,
40000 T& T T | T H& 10 TG F T 20T T THITT 3hred T 90 TTerTa ke ST &l
TERT T TR I T ST TFI B o T¥=ITd IT & TS| =R 1 o foTe, SohT @t 1|

What is meant by operating costing? In which industries is it used? Prepare a transport

operating cost sheet and discuss the various items included in it.

afee amra fFafor fife @ = afinme 21 @' 6 fomT samt 9 ooamft it 21w
FTATATT IR AT I3 G hIST T S6H Gienterd Hel ohl gHesd|

Form the following data relating to two different vehile A and B . Compute the cost

per runningmile:




e et & emuR WSt fafs migat A qunB i gt et uf=ne @rra 3ra i

Vehicle “A” Vehicle “B”:
Mileage run (annual) 15000 Rs. 6000 rs.
Cost of vehicle 25000 15000
Roadlicience (annual) 750 750
Garage rent (annual) 700 400
Supervision &  Salary | 600 500
(annual) 1200 1200
Driver wages per hou 3 3
miles run per gallon 20 miles 15 miles
pepair & maint.per mile Rs. 1.65 Rs. 2.0
Tyre allocation permile Rs. 0.80 Rs. 0.60
estimated life of vehicle 100000 75000

miles miles

The truck carried a load of 8 tonnes 5 times in the month while returning from B

station, but was once cought by the police and was fined Rs. 10000.
Cost of fuel per gallon Rs. 3.00 3.00

charges, Interest at 50% per annum on ccost of vehicles. the vehicle run 20 miles per

hour on an average.

T 71T YREeT FHFGT 5 27 YR 1At i &1 T R9H 8 &t 977 d A1 o ST 7 [T
600%. Jfd 2 <idl &1 JTqE! FFH 1 3T 560%. Fided 81 379eT 2013 H1g 7 56 geh 7 qof
YR gfed HIdd & 517 & 178 10 9 a7 57894 @ 7167 9 9 €99 W 3 29 71 &1 9R
3TN FHacl U SR H ©IH G U YA de fa41 717 fo13 9199 ciite1 ue1 98 7 IR 3
T

e T9ITE =2 192000 TN SREV 7 96000 F. T HIIH TR =79 12020 F;
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T8 WA 5T T o & WYHI % 1org R § et SR ) famra 7ef 1 St 31 e
2013 9 % ST HTE % 1o7¢ Il 27 ToheTHie? (TRI[E) F1 TrTa a2 1 J1d HA1 3

URYH 9 o T3 H1 g 210 16,41, 791 QA € H WvE #1 g0 120 TR AL 8 5 AR H
M E TIed A g R1 5 9R 8 2 HIeT of ST 1 Ao Tk §R Yferd GRT 9ahe ST &
FRU 10 TR &4 JHAT 31 7S]

Explain the following (ﬁlf\cﬂ%l'f@ﬁ ﬁ?ﬂ?ﬂ?ﬁ)
(1) Hotel cost account (E?ZFIFWFIF?@W)

(2) Power House cost accounting (Iralgld T8 IITd LClET))

(3) Hospital cost accounting (ferfehedn AmTa i)
(4) Absolute ton km (Qﬁ'-?\g@ 2777%%1'?7-7720

A transport company charges Rs. 600 per ton for a 5 ton lorry load from A station to b
station. The charges for return trip are rs. 560 per tonne> n the month of April 2013 a
truck has made 10 out ward juurneys with full load out of which 3 tonnes were
unloaded twice at C station in the way. It returned without any load once only from C

station to A station. The expenses incurred were as under:

Annual fixed charges: Rs. 192000, annual maintenance charge rs. 96000 monthly
running charges Rs. 12020. You are required to find the cost per tonn — km (absolute)
and the profit for the month of April 2013 assuming that no can cession is made for

delivery at the intermediate stations.
Distance from A station to b station 210 km and from A to C station 120 km.

et b TG W 5 Iawrd Jifven X @ SIS s et gad 20 Hie Ifa 992 War @
Fordl 8l

A medical product manufactured by Arjun Drugs Lt. passes through three distinct
process to completion. During a week 1000 grains of material valued at Rs. 50000

were introduced and the following expense were incurred.

S S [711S 5R1 T a3 &1 AT 13 i Siea137l §RT 9Rd 814 W 9. T Siar
2 T GudTE § 10 &R T Gl 50 85R ®93 ATd &1 TS a1 99 379 34 145 JFER
3 73




A (Rs.) B (Rs.) C (Rs.)
Machine Exp 5000 4000 3000
Labour 20000 30000 25000
Direct Exp 11000 16400 4600
Normal wastage 5% 10% 5%
con inpit 1.00 2.0 2.50
Scrap value per gram | 9000 8000 7700
Actual output
(grams)

46

47

Prepare process Account, normal wastage account, abnormal wastage account,

abnormal effective account.
YT @Id, GTE1 <99 @14, JE1H-9o99 ETd, U7 JETH4 s<Id GTd dIR’ HI1T)

Discuss the justification of Inter process profits. How are such profits dealt within

process accounts.

37~ G111 & ST F1 =1 ST 39 JHR A1l & Tkl @i 8 fond TR

o
FER T3 ST 8l

A product passes through two process A & B output of process A is transferred to
process B at a price calculated to give a profit of 20% on the transfer price and
finished output is transferred to finished stock at a price calculated to give a ine

following data relate to the week in 2013. t

T 3c916 T Y7 st g1 Iisharsql @ wiia gl ([Afdfa fobam Siar 81 T gk &1 3cqrg ot
YiehaT H AT G X 20 FIawrd A1 R a9l st ik 4 [Hida a&q Hida w2 4
FEATRYT T T 25 A1 A7 TR IR o621 STl &) 2013 % T% 9edre € geifera
o 3 TR Bl

Process A Process B

Material consumed 80000 240000

Wages

12000 135000




Factory over head
closing stock

*Valued at prime cost)

40000
40000

150000
175000

Tt sreq = o AT 2 a1 T SRRt HedieR 2000000 F. TR TRIT ARATRIY T 680000

&, 1 o oI T | AT qedent # sk @rd qe i qrer @ s

48 The Hindustan chemicals manufacturing comp.Ltd. manufactures and sells chemical
product by three consecutive process known as A, B and C. In each process 20% of
total weight put in is lost and 10% is scrap, which from A process and B process Rs.
100 a ton and from process C Rs. 200 a ton. The product of the three processes are

dealt with as follows.

g shivfshet FHior shrat for, o Sfshamatl @ , sft, ot g T A shieh sierdt 2l
ST SIfRAT et W 3T 2 ST SR &1 SITaT 21 q 10 ST STaRiy @t 81 T e ot
TSRl H TN T AT 100% S S a1 €t TisHaT o STeRIY o1 Hed 200% Sfd & Jred

BT 2| 7 Ifshamsty o Icared Heiftrd o3 foremor fae w2

A B C
Setit to ware house | 25% 50% 100%
for sale
(e o foska 2 7504 50% ]
R E1)

140 ton

Passed to next

1000 tonnes 1348 tons
process
matenal used cont per 200 80
ton mat (Rs.) 120 25700 18100
manufacturing  Exp | 30800

(Rs.)

Prepare an account for each process showing the cost per ton of each product.




Yok UfohaT ol GTAT ST 3cUTe shl Ufered amTd J1d shifs)

49 Explain the various accounting methods of joint product.
T IeuTe St s ittt o e
50 A factory producing article P also produced a by-product Q which is further processed
into finished product. The cost of manufacture and selling prices are given below.
T S ST At ] 1 i sd wne o T Searg oft ffa g S @) S e g
forshar aivwer sy SiTa 21 Fmioft mTa wet fosker qer e werm 2 -
Joint Exp Subsequent expenses
RRELESR] SGHERIRCE]
P Q
Rs. Rs. Rs.
Material 5000 3000 1500
Labour 3000 1400 1000
overheads 2000 600 500
selling price - 1600 8000
on s.p. - 25% 20%
Assume that selling and distribution expenses are in proportion to sale price show how
would you apportion joint cost of manufacture and prepare a statement showing cost
of production of P & C.
fershl wdl ferawor sy farshar et o Tl # Wi oY, & @ Sl ScqTe AT 1l ISRl o
T ICITEH AT T SIS o ST T 8 ol qoeisl
52 Write short note on
Hfered fewafort ferRew
() Joint product HIFT IqTE




(b) By- product ERI I
(c) Reverse cost method T @mra fafer
(d) Joint expenses Hﬂzﬁ =R
52 In the course of manufactures of main product ‘P’ by product A and B also emerge.
The joint expenses amount to Rs.119550. All the three product are further processed
after separation and sold as under:
T 3eqTE ot 3 Iearq kAT § a1 37 Ieure ¢ F off ffifa g 81 we AT 119550%. 27
AT IeATRT R AT ST sharish fopam STTaT & QT 3ehT fooha 7o 3 Jehr @ —
et Teort forshar oy forshl ot AT &1 10 wicrerd 5178 20:40:40 % AT H SFTHTISA FEAT
gl
RIS DI
Main product By product ‘B”
(CA”
Sales Rs. 90000 Rs. 60000 Rs. 40000
Cost affer Rs. 6000 Rs. 5000 Rs. 4000
seperation 25% 20% 15%
Profit as sale%
(far. ot ey fcreT)

(i)
(iii)

Total fixed selling expenses 10% of total cost of sales to be allocated as 20:40:40 prepare

Statement showing apportionment of joint cost

Main production account and by production account.

TR Y SIS foferor ot

I
2 T IcdTEH Wl qT 1 3YICTE @I

53 Define control accounts and explain their significance in cost account.

T @Tat st aieaTiva hifs qerm dnTa oRal § 3o Hecd ohl gHes|
54 The following balances existed in the cost ledger of X Ltd. as on 31 March 2013.




31 9T 2013 i T faafee st qedehi § ffetiad I faeme o

Dr Cr
(Rs.) (Rs.)
Share ledger control a/c 602870
W/P ledger control a/c 244730
Stock ledger control a/c 503890
manufacturing over heads 21050
cost control a/c 1330440
1351490 1351490

Other particular for the year are a9 % SAfciierd foreemor 39 TR 2

Finished product (at cost) - 421670
Manuf. over head incurred (fixed) - 183020
Raw material purchased - 246000
Direct wags - 101060
Indirect labour - 43330
Sales - 500000

Cost of sales - 376780

Material issued to production — 254630

Sales return (cost Rs. 10760) 14470

Material return to supplier - 5800

manu. over head charged to production - 154400

you are revered to write up the accounts and schedule of closing balance stating what

each balance represent?




AT WA SATgY TAT HA-H Gl b1 et H SIS T I8 SAlgd o Tedsh 3T 1 i
2l

55 What control accounts would be needed to be maintained in respect of material

purchase and used in factory? From what source would the entries be derived?
T Sl § gl & o Ud ST & Gy § hiAd I @ T S SAEvges 2 R
wfafst st form aremt & Suctsy fora Siar 21

56 The following balances were extracted from ledger of Bachan Ltd. as on 31 Dec. 2013

31 feaws 2013 i guTed a9 % forg s for, shi @ sife @ fefeRad 9w Suctsy @

Dr. (Rs.) Cr (Rs.)
Raw material control a/c 48836
W/P control a/c 14745
Finished stock control a/c 21980 85561
Nominal ledger control a/c

85561 85561

Further transactions took place during the following quarter as follows.

AUt i 718 ot 3TaTY ¥ FAefaRad suerer fomd T -
Factory overhead — allo cated to W/p 11786

Goods finished — at cost 36834

Raw material purchased 22422

Direct wages — allocated to W/P — 18370

Cost of goods sold 42000

Raw material — Issued to production 17000
Raw material — credited to suppliers 1000
Inventory audit — raw material loser 1300

W/P rejected (with no scrap value ) 1800

Customers return (at cost) of finished goods 3000




prepare all necessary ledger account in.

AN GTT e | T STTEvash @I S ¢

57 State the reasons for disagreement between the costing and financial results prepare an
imaginary reconcilicition statement.
AN TG AT Tl 12T TRATeh o TIOTTHT § 3L o ShIUTT ohl TISE SHITSTU| Teh Tk
THTE forator oo dam i)
58 Find out the profit as per costing records and financial accounts from the following
information and reconcile the results.
7 et o g0 AT el U ot oral i ST W AT 1d L ST ok oI
[ERIEEAISIY
Product Product “B”
‘GX)
Numbers units 600 400
Produced and sold Rs. 3600 Rs. 2800
total direct material Rs. 3000 Rs. 2400
Total direct wages Rs. 25 Rs. 30
selling price per unit

59

Work overhead is charged at 60% of prime cost and office overhead at 40% of works
overheads. Actual works expenses amounted to Rs. 4500 and office ecp. Rs. 3900.

There were no opening or closing stock.

HEHT TR HA AN HT 60 T T FHRITd TR HHGHT STNT T
40 SfrRTd THTTET ST 81 SRedfaeh @M1 5 4500 &, 991 e a9 3900 & &)
SR e SAf-m €T e 2

The following information has been collected from the records of a company.

Teh SHFIHT 1 Jedehl § TR FeTd ST shi TS 2 ¢




Cost Records (Rs.) Financial Books (Rs.)
1 Values & Opening stock
Raw material 27342 27458
Finished goods 21000 20642
Work in progress 19488 19379
Value of closing stock
Raw material 2957 29326
Finished goods 24000 22860
Work in progress 21296 21382
3 Work overhead 18000 15000
4 Admioverheads 6000 7000
5 selling and disover heads 9600 7500
6 miscellaneous exp - 21000
7 Transfer fees (Income) 200
8 Interest on Bank 1500
depisit (income ?
9 Profit as revated 127411

Prepare a statement of reconciliation as on as certain profit as per financial Books.

Teh GHTT Toraor oo dR ShifSTe 31T fored 1o gt o arl <t oET hifsg

60 It has been stated that an efficient costing system willnot necessarity prodvced
accounts which in their result will agree with the financial accounts. Comment upon

this statement and explain the objectives of reconciling cost and financial accounts.

g el 1Al 2 foh AT oRal o TRoTH SA1evass &9 & e @t o iy & qqm =t
Bl Hehd B0 3 e Y foaa=aT HifSe wd amrg qer foaed™ aat & e & Sew o

BEEIER




61

62

63

Explain the meaning and the uses of the following in relation to marrinal costing

(a) Break even point (b) P/V Ratio (c) Margin of safety (d) Contribution (¢) Key factor
(f) Angle of incidence.

HTd AT i % Ferer § fFrefetfad o sl e Syt awersy ¢

1 T fereee foimg 2 SARTEH ST 3 GRET HIHT 4 S 5 eI T 6 HANT T 1T
Modern company has maximum capacity of 44000 units per annum. Normal capacity
is regarded as 360000 units in a year. Vanable manufacturing cost (including material
and labour) is Rs. 2.20 per unit. Fixed factory overhead is Rs. 108000per annum.

Selling and distrubtion cost of fixed nature is 50400 per annum where vanable is Rs.

0.60 per unit. Sale price is Rs. 4.00 per unit.
Budgeted outpit sIsie 3cqTa 8 0000(Units)

Fixed expenses (ﬁ:a'{ ) Rs. 400000
Variable cost (341%94? o) Rs. 10 per unit
Selling price (fasFa HI) Rs. 20 per unit

Draw a break even chart showing BEP.

Teh T ol sHTeht | fereree fermg wafiid shifsiy

64

65

66

The ratio of variable cost to sales is 60%. The break even point accurs 80% of sales.
Fixed cost are Rs. 200000. Find sales capacity and the sales at break even point also

determine profit at 90% and 100% sales capacity.

fefshal O IREITeTel ATl shT STIATA 60 FicraT @ &7 wrwiers foreg 80 Sfcrwra fershar e
SUSH BT 8| TS AN 2 TG &, 8] AT foreg W forsher oot fersr egerar s <hifery|
Torshar <t 90 ST G 100 TTeTeTa &THdT 9T AT T shifsTy)

Define standard costing. Explain the difference between standard costing and

budgetary control.

THTY AT SRETeh ah! IR shifsre
THTT AT AG iR T Ssted] 3707 7 37T ot gHesa

Explain and illustrate the methods of calculating following variances.

freferiaa oot 3 ufere i Gfa et afea ausmeg
(1) Material price variance %rrqu“rngzrﬁaw

2 Material 1 usage variance 9THIT ST fereror



3 Material mix variance STHIT fersyor foremor
4 Material yield variances TTHIft SeqTe foremor

67

material yield variance.

Calculate material cost variance, materoal price variance, material usage variance and

frefrfad wient @ wmlt @wTa forror, |t qear forror, @l s foreror, o am

31 ferarr 1 aftere hifsie
Standard JHT9

100kg material for 70 kg finished product
100 foretrams =, 70 fo6.2m. qut i 3eume o feTg 200 &, Wi foram, &

Actual &R

Output 2100kg material used 28000kg cost of material Rs. 50400
21000 forzm Ieamet 3 for 2800 foram |mEft st <t 718 fS@reht AT 50400 & 21

68

Find out direct labour variance from the following details.

faatafad faewon @ yeer am fomron &Y gfammr hifsg

Standard

Actual

Output : 1000 units Rate of payment Rs. 6 per

unit

Time to be taken : 50 Hours

1200 units
wages paid with
Bonus Rs. 8000
Time take

40 hours

69 Calculate material cost variance and

information

(a)
(b) Standard price per kg of mat. Rs. 20

its various components from the following

Standard quantity of mat. per unit 10 kg

(c) Actual usage of material per unit 12.5 kg

(d)
(f) finished ouput sold — 50 units

Actual price per kg of raw material Rs. 18




(g) Closing stock of output 10 units
No opening stock of raw material and finished stock

70 In a brass foundry the standard mix consists of 60% of copper and 40% of zinc. the

Standard loss of production is 30% Standard mix and yield were.

Teh fideT BISUET T THTT frsior 60 Seera aiem qem 40 TieTd ST 21 Scated § JHTT &7 30
TTATd 2 AT JHTT {107 U Scame 39 TehT ol
copper 60kg@Rs. Sper kg

Zinc 40kg @Rs. 10 per kg
Standard yield (FHTY 3cqTe) 70 kg

The actual mix and yield were

AT 0T U SeuTe 39 TR o1

Copper 80kg@Rs. 4.5 per kg
Zinc 70kg @Rs. 8.00 per kg

Actual yield (STEdfaeh 3edte) 115 kg

71 Explain material variances and labour variances.
AT AT 2 For=ron) ol Swesy
72 Give the following particulars, compute the labour variances

feafafad grent 9 oy fommon st J1d Hifsg

Labourer Standard Actual
Noof Rate Hours Noof Rate Hours
persons worked persons worked
Grade | 100 Rs. 3 100 80 Rs@?2-50 | 120
Grade i 50 Rs. 5 100 60 Rs. 5.00 120
Grade [II | 40 Rs. 10 100 50 Rs. 8.00 120




Standard = 400 units Actual= 380 units

outpur output

THTT Ieq1ET 400 ST ST foIh ScaTe 380 SehTsaT




